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T b A B0 (W B HELIR)
= 1 74,299, 988
CCTV g% fi
= 1 74,299, 988
CCTVH: 18
= 1 74,299, 988
HDf# 5y R TPH 7% &
= 11 1, 706, 640 18, 773, 040
oy
i1} 11 611, 470 6,726, 170
L2-SW BIMEAR
&) 11 547, 585 6, 023, 435
L2-SW BN AR
&) 4 501, 953 2,007, 812
SFP (1000BASE-X) s R
e 14 290, 220 4,063, 080
SFP (1000BASE-X) EaEEL i3
¥ 10 1, 159, 055 11, 590, 550
JEH A TR TR 70W
&) 11 1,925, 674 21,182,414
HDDFC Sk 24 1
i 1 3,933, 487 3,933, 487
Heds 2
= 1 74,299, 988
THE
= 1 9, 505, 435
THRET
= 1 9, 505, 435
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CCTVE RERIME
= 1 9, 505, 435
CCTVI At #47°1 Bm
& 1 660, 661 660, 661
CCTVI At #4772 6m
& 2 776, 475 1, 552, 950
CCTVI At #47°3 6m
& 2 791, 625 1, 583, 250
CCTVI At 44774 T
& 1 854, 232 854, 232
CCTVI At #47°5 8m
& 2 759, 318 1,518, 636
CCTVI At #47°6 10m
& 2 1,106, 122 2,212, 244
CCTVI #47°7 10m
& 1 1,123, 462 1,123, 462
T Hi TR
= 1 9, 505, 435
(C35RAE M)
= 1 9, 505, 435
i B
= 1 21, 598, 054
CCTVER A T
= 1 6, 294, 093
CCTVH: (B FR & T
= 1 1, 780, 623
HDTE 2 B TP A7 % & P As) - R 3%
=) 11 55, 944 615, 384
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i1} 11 19, 092 210,012
L2-SWE -+
= 4 19, 776 79, 104
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&) 15 23, 856 357, 840
JEA S TR B R TR
®
&) 11 40, 247 442, 717
HDDFE S 22 1 418 £+ -
A 1 75, 566 75, 566
KRR E T
X 1 432, 803
TR E 400k g AT
(50 1 30, 883 30, 883
AR E 400kmLA
(50 10 40, 192 401, 920
R P4 B IR [ T
= 1 737,951
LRV =V B
m 40 6, 242 249, 680
AN = (BEEFD 22)
i 11 4,189 46, 079
AN = (BFEFD 22)
i 11 4,189 46, 079
B it 4 B Bk 2) J-46
i 60 4, 344 260, 640
i 4 B V- R4 B (B
)
& 60 1, 469 88, 140
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v afvh (kD 2)
i 13 3, 641 47, 333
FLARERRE T
X 1 115, 314
FARE R av))-ME Tm
Z 1 79, 993 79, 993
KRBT 30mm2
Z 1 33, 201 33, 201
BEEN VN Bkt &) 4BD-HD-12
i 1 1,916 1,916
EIERTy ) B EED )
i 1 204. 4 204
BEHh & T
X 1 134, 975
ML HIVE £ 14mm
m 17 1,213 20, 621
JEAMEL R IV=7" 1 (600VE” =it aEs1) 3.5
m2
BN
m 43 322.7 13, 876
e B DFE ¢ 14X 1500
fik 11 5, 581 61, 391
et (kLD 2) ¢ 14X 1500
Z 11 2,619 28, 809
)= S (BB 22) ¢ 141
Z 11 629. 7 6,926
AFVIN VN BEEFD 21) SFT-N209
i 11 304. 8 3, 352
=77 VEGR T
X 1 2,600, 998
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S Hit H AR SM-8C
BN

m 450 597.9 269, 055
SR AR SM-8C
BN

m 81 754. 2 61, 090
Ju=y"y (MR 72) YIRS 40CLAT 45%

i 9 54, 393 489, 537
Ju=y" yHHEE E 4 Bk ) et

i 9 23,728 213, 552
Jer=7" W5y s B 57-7" LR

[E0 11 58, 755 646, 305
Her=7" vk 577" LAF

[E0 11 28, 501 313,511
{RIEHR R 208 L4 F

75 I 22 16, 290 358, 380
et R IR 208 L4 F

X 1H) 11 22, 688 249, 568
BT

X 1 491, 429
P ELE FEP £% 30mm

m 373 361. 4 134, 802
AL # £ 30mm

m 24 2,242 53, 808
B # £ 38mm

m 3 2,419 7,257
B G £ 28mm

m 5 2,535 12,675
JEAMEL R VVRF=7" v (600VE ™ =ifafgkr—7" 1) 2

£ SV 1. 6mm—2C

BN

m 61 620. 3 37,838
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JEAMEL R VVRF=7" v (600VE =ifafger—7" 1) 2
£ SV 5. 5mm2-2C

BN

m 5 1,438 7,190
JBAMEL R CVH=7" W (6OOVZRAGER V47" W) 3il»

600V 8. 0mm2 X 3C

BN

m 32 1,632 52, 224
ZRISELAR (5575 D Hx) OW14mm2

PR 4 40, 639 162, 556
W=7 v (BB D F2) 0W14mm2

m 48 201. 6 9,676
/M ARy 7T (B F) G28

i 1 1, 305 1,305
BEEN VN Bkt &) IBT-208

1@ 5 489. 1 2, 445
BEEN VN Bkt &) IBT-408

i 4 762.9 3,051
HLRRE B (BB F) FEP30-G28

i 1 3,741 3,741
EERTy ) B EED B)

i 14 204. 4 2,861

+T
= 1 10, 102, 813
HREILRET

= 1 5, 652, 868
AL E 24-12-25BB 1500 X 1500 X 1000

(B0 4 130, 964 523, 856
AL E 24-12-25BB 1800 X 1800 X 1000

(B0 1 131, 876 131, 876
SRR B B =W7/h— 100%I-V H=3500

&0 1 689, 501 689, 501
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SRR =7 /h= 100%I-V H=4000

(&0 5 787, 610 3,938, 050
SRR OB (R3E ) t=40mm

X 1 24, 577
ShAL AR (BE3E ) £=100mm

X 1 2,671
R CSER ) t=40mm

= 1 4,028
Sl R A (B3 ) £=100mm

X 1 335
RIE

X 1 13, 260
HEREL A

X 1 13, 607
Hay)) -} 18-8-40

X 1 120, 742
T A (HR3E ) BEI79v4-77 (RC-40) =100

X 1 15, 368
T8 s (RS ) BEI79v4-77 (RC-40) t=150

X 1 497
- s (RS ) T ARL B S e (RM-30) =100

X 1 444
- s (RS ) AR 22 E ALEAL (25) t=80

X 1 3, 402
JoJE (H3E) FEATHLREEET A7 7V MBS W (20) t=5

Omm

X 1 2,378

g (HE) FAEHRIEET 277 VMRS (13) t=4
Omm
= 1 47, 338
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g (H3E) LA BRI ET A7 7 MBS W (20) t=5
Omm

= 1 2,413
B 1w - PR A

= 1 116, 635
R - ALy

= 1 1,890

NN RV E T

= 1 1,716,924
7 VR A FER 600X 600X 900 k% (T-25) & e

(B0 6 169, 933 1,019, 598
7 VE AL Rl 600X 600X 600 £k (T-2) &L

(B0 2 91, 720 183, 440
7 VR Rl 600X 600X 900 £k (T-2) & e

(B0 1 103, 584 103, 584
SRR OB (38 ) t=40mm

= 1 7,479
EhALRR O (BE3E ) £=100mm

= 1 22,971
Sl R R (3 8) t=40mm

= 1 1, 007
Sl R A (B3 ) £=100mm

= 1 3,189
RIE

= 1 62, 497
HEREL A

= 1 81,617
T A (HR3E ) BEI79v4-77 (RC-40) =100

= 1 3, 659
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= 1 12,932
- s (RS ) T ARL B e (RM-30) =200
= 1 14, 273
- s (RS ) AR TR 22 E ALEAL (25) t=90
= 1 54, 831
ST (H3E) FEATHLREEET A7 7V MBS W (20) t=5
Omm
= 1 42, 812
g (HE) FAEHRIEET 277 VMRS (13) t=4
Omm
= 1 11,271
g (H3E) FLA BRI T A7 7 MBS W (20) t=5
Omm
= 1 43, 441
B 1w - PR A
= 1 38, 303
R - ALy
= 1 10, 020
B LT
= 1 2,550, 603
SRR OB (38 ) t=40mm
= 1 55, 561
SRR OB (R3E ) £=60mm
= 1 4,273
ShAL AR (BE3E ) £=100mm
= 1 279, 451
R CSER ) t=40mm
= 1 3,524
R CSER ) £=60mm
= 1 335
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Sl R A (B3 ) £=100mm
= 1 17, 796
RIE
X 1 198, 864
R L TR
= 1 201, 055
HEREL A
X 1 95, 279
T A (HR3E ) BEI79v4-77 (RC-40) =100
X 1 16, 838
T s (RS ) BEI79v4-77 (RC-40) =200
= 1 62, 287
- A (RS ) T ARL B e (RM-30) =200
= 1 94, 640
- A (RS ) AR 22 E ALEAL (25) t=90
= 1 387, 507
JoJE (H3E) FEATHLRLEET A7 7V MBS W (20) t=5
Omm
X 1 252,163
g (HHET) FAEHRIEET 277 VMRS (13) t=4
Omm
= 1 47, 338
g (H3E) AVh=ny%s)" 7" ny) t=60mm
X 1 11, 846
g (H3E) FEA B RIEET A7 7V MBS (20) t=5
Omm
X 1 255, 813
L=l TR
= 1 837
vy A7 9v4-77 (RC-40) t=130
X 1 2,394
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PR Ry~ VR 150mm 2547
m 333 235.3 78, 354
B 1w - PR A
= 1 416, 621
e - ALy H
X 1 67, 827
ER IR
= 1 152, 932
B = Vs - F R E
m 12 5, 693 68, 316
b AT R E
m 8 10, 577 84, 616
[ k2 T
X 1 7,198
AR S - TR A
Bre 1 7,198 7,198
HEK M &) T
= 1 22, 288
PEK IR L - ek E
m 4 5, 572 22, 288
YAThAYT) V=yay
= 1 3,987, 333
YAThAYT) V=yay
= 1 3,987, 333
YAThAYT) V=yay
= 1 3,987, 333
T35 8 e T
= 1 31, 029
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ik T
= 1 31, 029
ik (BR)
= 1 31, 029
% T
= 1 1,182, 786
AR EEE T
= 1 1,182, 786
AR I i B A W i B A
NE! 22 15, 816 347, 952
AR I i B AR i BB
NE! 66 12, 649 834, 834
(R
= 1 21, 598, 054
ek
= 1 3, 406, 103
HemER H
= 1 71, 309
e s
= 1 71, 309
JH M R SR AT IR
= 1 56, 346
B RGE{E M X DB I E Rk
= 1 14, 963
Jeim Rty (RE R)
= 1 3, 334, 794
#IETEF‘?E’
= 1 25, 004, 157
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Bl By

X 1 12,468, 516
i E ik

X 1 13, 195, 891

e TEY
X 1 7,289, 272
TR PR 2%

X 1 5,906, 619
(B85 J5UA)

X 1 50, 668, 564
T8 5

X 1 60, 173, 999
— A B

X 1 10, 846, 013
T3l A&

= 1 145, 320, 000
EEETREEE ]

X 1 14, 532, 000
TH2 5t

X 1 159, 852, 000
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